—

g b

= o i
145, *L manganate and permanganate inns gre
el |

O brahedral, due to:

e

e

ﬁ‘j There is no - bonding

-'1  The hqndm_gmmlvﬂﬂuver]ap of p-orhitals
of oxygen with d-orbitals of manganese

E‘i} ‘The - bonding involves overlap of p-orbitals
nfu;ggen with p-orbitals of Manganese

) The 7 bending invalves overlap of d-orbitals
of oxygen with d-orbitals of manganese

The number of moles of hydrogen molecules
m[mmd tﬂpru-du:e 20 moles of ammonia through

Hﬁ.h!ﬂfﬁ Process is ;
{IJ _lﬂ

147, ‘iﬁﬂ at 850 K and 15 bar has melar volume
mFﬂTﬂﬁnt amaller than that for an ideal gas under
ﬂlﬂﬂﬂﬂ conditions. The correct option about
mﬂjﬂﬂ and its compressibility factor (£)187

?{ﬂl make basic huffer ?

E_--Jvﬂ-

"IE'.]I. E}H .
.. ; Lﬁ-.lr_"

EFhlrJm_[,.-;fr;_uM{]H COOH + 100

gl@ Z>1 and attractive forces are dominant
i,i'i Z>1and repulsive forces are dominant
*@ Z<1 and attractive forces are dominant
Z < 1and repulsive forces are dominant

i MmL of 0.1 M NaOH +25 mL of 0.1 M

0 mLcrf

150. The major product of the fql] o

|,.I'.'.|

CODH | 4y
d Bt["l] -h'ﬂﬂ = ..-.
N h”,;
iy
COOH &
COOH
.fl'
(1)
‘\\"‘-.
CONH,
0

COOH
NH,

)i./ﬂumusate hase. fl‘-'l" -L' nsted ac nd HE
-are i b
r g I : II




] %Whi;chnfthefuliuwmgspemams not stable 7

) [SiFg1*
@) [GeCl2
(@ [SnOH)g|*~
@) [SiCl*

154. Which mixture of the solutions will lead to the
formation of negatively charged colloidal [Agl]l—
sol. ?

(1) SH0mLoflMAgNO;+50mLofl1.5MEKI
(2) B0mLof1MAgNO,+60mL of 2 M KI

(3} aSDmLofZMAgNO,+50mbLiof 1.6 M KI
(4) H0mLof0.1MAgNO;+50mLof0.1 M KI

]ﬁ{ Which one is malachite from the following 7
,ﬂ{ CuFe5,

(2)  Cu(OH),

{31 FegOy

¢

158,

T ol
_ﬁqmqlhr..;

Match the following :

) Purenitrogen ()  Chl :
(b Haber process (1) Eﬂ _l
ic) Contact process

(dy  Deacon'sprocess (iv)

Which of the following 1s the correct upﬁn : ,

(a) (b) () (d)
n ® @ @) a9
@ @ v O G0
@ ) Gv) W @
W o @ @ 6

Among the following, the narrow spec trul
antibioticis:

(1)  pemcillinG

(2)  ampicillin |
(3  amoxycillin ‘4
(4)  chloramphenicol

Which of the fullnme
hydrnx.uie" :



e bl
) C€l-CH,-CH,—CH
L |
CH,

rH Cl
@ HC- LH.,—n:H CH,

CH,
|
@ HC- LHE—II_- ~CH,

C1

i ;‘ﬁm hiﬂdegrada ble polymeris:

l.-!-\.l_-

i:v.m nylon-6, 6

¥ L
lllllllll

A0 (CHyy! '=-£EH3JENH='. ;

't._.p'

(4) OH. NH;}[GHH}QNHH'EGH ﬁ'

166. What 15 the correct electromic ¢q rltl-gﬁiﬁ

the central atom in K [Fe(CN),] based on ery

feld theory ? ‘" I
(1) '*1: e'f
@ tog e
@ et
@ el

(T( Among the following, the one that ia nnt a'
green house gagis

(1} nitrouvsoxide

(2)  methane
ﬁ.‘l-""'umne
(4)  sulphurdioxide ‘

/388) A compound ia formed by cation C and an:

lattice and the cations aceupy ‘lﬁ
voude. The fﬂl'mﬂlﬁ of thﬁmm pound 18

|




'Ehammynunﬂ that is most d:fﬁcult to protonate

g Moy
I+

%d. 5p, 5f and 6p orbitals are arranged in the order
‘ of decreasing energy. The correct optionis:

(1)
() Gp=5f>5p=4d

\ @j/ 6p>of>4d>b5p

(4) 5f>6p>4d>5p

bf > 6p > 6p > dd

172. The mixture that forms maximum boiling
‘azeotrope is

(L)  Water + Nitric acid
(2)  Ethanol + Water
@ Acetone + Carbon disulphide

‘r.a:

@ 0126%10717

@ 05x10-10

Which of the following series of mnﬁiﬁ" : 0
apectrum of hydrogen atom falls in visik

region ?

(1) Lyman series
(#) Balmersemnes
(3)  Paschen series
(4)  Brackeit series

Z?ﬁdﬁntl fy the incorrect statement related to E 0|
from the following :

(1) Three equatorial P— Cl bonds make ana AT

of 120° with each other

(2)  Two axial P— Cl bonds make an angle of 180
with each other

(3)  Axial P—Clbonds are longer than ec

P —Clbonds

\.,(41/' PCly molecule is non-reactive

‘y';"{ The most suitable reagent for the fol lowin

Eﬂ“‘n’EI‘Elﬂﬂ 18




(1)

150,

()

(2)

(3)

(4)

: Bt Llls
The correct structure Dfirlhrﬂmﬂﬂﬂtﬂﬂ!li?éﬂ_;

(1)

(2)

)

...........
_____
o
o0

— 46.92 kJ mol !

— 93,16 kJ mal !

46,32 kd mol —!

2916 kel mol ™

&
i

(3]
D.i:;- i .-;-n
O=Br—Br—Br=0
& i o)
) 0 (8]
0 il é‘ﬂ 23
ﬂtfr- Br—Br—-0
[ e
D n“' D
0" 5 ]
= U%_ [ f’u £
O-Br—Br—Br=0 L

Rl I i

0 0 ()
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